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3321
B.A. (Third Year) EXAMINATION, 2018
ECONOMICS
Paper 1

(Quantitative Techniques in Economics)
Time allowed : Three Hours
Maximum Marks : 100
Part A (@UT ‘31 [Marks : 20]

Answer all questior-:s (50 words each).

All questions carry equul marks.

gt gy fard & | % §vT &1 I UAid
=l @ oifywm 7 & 1 @Yt 9V & ok gua &

Part B (@0 'R/ [Marks : 50]

Answer five questions (250 words each),
selecting one question from each Unit.

All questions carry equal marks.

Yo% THE § U §9T G99 g, FA WA F¥T
FifrT | TF T9T F IW 250 VKl @ qYE 7
g/ @Yt v #F % G B |

Part C (@08 ‘®) [Marks : 30)

Answer any two questions (300 words each).

All questions carry equal marks.

FF 2t yo7 ST | §OF I¥T F I 300 VI
Qofayr 78 1 gt v F o7F gET F
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Part A (QUT ‘37
Unit-I (313-1)
1. () Write fwo characteristics of data.
el &1 e fafe )
(@) Name two meth(;ds of collecting priméry data.

TigfHe HE 1 TR @ Ft of At § am
HATRA |

Unit-11 (S&HTZ-1I)
(i)  State the relation between mean, mode and median.

Hieg, sgos TS Wiftgw & W g8y #) o
Hiferd |

(iv) Define skewness.

fasmar &1 sRfam =@ |
Unit-11I (3FE-111)
(v)  Write the limit of correlation coefficient.
HewaY ok Ht W fafed
(vi) Explain a and b in equation y = a + bx.

THHEO y =a + bx T o & b ) THESNZA)
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Unit-IV (G&H13-1IV)
(vii) Explain seasonal variation in a time scries.
TF HE SO § dgdr faseo w e
(viit) Define chain based index number.
el S g & aRfi wifer
Unit-V (3HE-V)
(ix} Name three algebraic methods of interpolation.

ATAETR F dr s fafudt & T aEEa

(x) What do you understand by sampling with

replacement ?
gfreeqs wfeqd =99 § 39 1 §HEd 87
Part B (@Ug "ﬂ')

Unit I (Z&HE 1)

Define tabulation and discuss its importance in statistical

studies.

[|OoEs @) ufivyfaag wifve e wiieEsE vmaE |
sH% TE™ Kl faa=Ar wife
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THER U SEYHl & Wy o wifwu
Unit 11 (HE 1)

The average income of a group of 50 workers was -
calculated as ¥ 80. It was later on discovered that the
wages of two workers were misread as ¥ 46 and ¥ 28
instead of ¥ 64 and ¥ 82 respectively. Find the correct

average income.

50 FHHETE & Th 99E & 3i6a 319 7 80 TREHfea
M AR H U@ wen fF 9 wHiE o sy
T 64 T T B2 Hh VAN W FHI: T 46 F T 28 T
T WS A o A s

Calculate standard deviation and its coefficient from the

following table :

F= wol @y fa=em qon se8 s # T
ﬁﬁm:

Marks out of 10 No. of Students
10 4 | 3 BT W W&
0-2 2
2-4 5
4-6 15
6-8 7
8-10 1
Total _____3_0_

4
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Unit II1 (313 II0)

Define regression. Why are there two regression lines ?

Under what condition can there be only one regression

line ?

gt 1 gftrfee Sifse | ) ydteTEE TEnd =4 ad
7 fFg Ton § da9 TH WO @1 A 2

Find correlation coefficient between X and Y series.

X a1 Y Soft # megey e | i |

No. of pairs of item (9S JHI & HE&A) 20

X- series

X-roft

Y- series

Y- 9oft

Arithmetic mean
(GHT=IT HIYA)
Standard Deviation
(yama fa=er)
Arithmetic mean
U |1

Standard Deviation

gaq  fa=e
5

30

15

40

25

P.T.0



Sum of the product of deviations from respective means

of X & Y

sertes : + 6750,

X a Yy oforg & aceat medl @ feaw e faaedt w5t

M

Determine

I : o+ 6750 |

Unit IV (3&FTE IV)

the trend line for the following data regarding

number of employment exchanges.

frafafea s S 09 sieEl = 9w @

watyd §, ITfa Y@ @1 fuito wifsu)
Years No. of Exchanges
() TR wEtaa & e
2005 300
2006 700
2007 600
2008 800
2009 400
2010 900
2011 1000
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State and explain Fisher’s ideal Index formula for price

index number and why is 1t called 1deal ?

o1 GaorTehi v fRYR & 3Tl H3 &1 9a15d ua 997

fr e oyl 93 ¥ wEema €2

Unit V (3&T3 V)

From the following data estimate life expectancy at the

age of 22 years :

/= 9uel & SUR W 22 99 FI AR I G G
srEIa s

Age (year) Life Expectancy
3rg (aw) (a9 y=ar9m)

15 32.2

20 29.1

25 26.0

30 23.1

35 20.4

7 P.T.O.



11. Describe in brief the functions of National Sample Survey

Organisation.

T gitee Gaeo e & el o 989 § gmeed |

Part C (@UE ‘W)

Unit 1 (3&TE 1)

12.  Plot the following data on a graph paper :

= 9= =1t F AW ur sifeRg wifRm .

Year Production of Steel Plates
(I) (B =) @1 3|4

(A) (B)
2000 400 220
2001 450 235
2002 560 385
2003 620 420
2004 o580 420
2005 460 380
2006 500 360
2007 540 400
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(A and B are two units of steel plant)
(AandB@ﬂWﬁaﬁaW%)

Unit 11 (313 II)

13. Determine the Geometric Mean from the following data :

= smepgl @ oI HIe 9wt

Marks (Less than) 10 20 30 40 50
% (9 FH)

No. of Students 12 27 72 92 100
faenfeni =1 wem

Unit I (& III)

14. In trying to evaluate the effectiveness of advertising

campaign, a firm compiled the following information :

T FwrE 3 A Tuw A R afe faga sl
F WAFW H TEATHRA fRA A HE

Year Adv. Exp. T 000 Sales (T lakh)
CL| fasma == 7 000 fae (x @ W)
2003 12 5
2004 15 5.6

3321 9 P.T.O.
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2005 15 5.8
2006 23 7 X
2007 24 T2
2008 38 8.8
2009 42 9.2

Unit IV (3&FTE IV)

From the following data construct price index by
(i) Simple aggregative method and (ii) Weighted
aggregative method and check whether circular test is

satisfied :

=1 vt | () Wt "g Ofa T ) wie gye ofa

B AT YIETE A i a9l g sifse fF ag

THY O ) TR FIG
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Commodity| Weight Price &va G‘)
k T TR 2008 2009 | 2010
‘Wheat () 3 10 12 15
Rice (3J1E¢) 2 20 26 30
oil (3) 1 40 50 60
Unit V (3FE V)

16. Using an appropriate formula for interpolation, estimate
the average number of babies born per mother aged

30-34.

A TfEd ¥ FH TN H@ Y 30-34 T
H Ay A Ael | w fgel # ofwa g
H FIHA i)

Age of mothers (Yrs) Average no. of Babies Born

ararel oy (F) W @l o ol Wem

15-19 0.7
20-24 2.1
25-29 3.1
30-34 o ?

35-39 5.7
40-44 9.8
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